LB UBH EOBRBE OB EM(ST4EIR1BIRE)

ITEUEEA R R (1)
AE B ;i 5 et
i %%&gljiiﬂiﬁffﬂg%‘ﬁ?é -+ [EN B _E oD EX Bt
* (N) | (%) W4 Nl o] o | s
= 32
1} | RN EREITOBS 32 21.62
Hi 32
FEXE 26
1 EEDOBH . -
o e E OB 2 | 1797 [FEEMA o o5 | so0s | &
Hi 26 &
BlEE 21
1 BlEE DR . =
B, rErEEMRORS 2 | 1689 |TEAEEMA ’
Hi 25
FEWH 6
1 EEMHOBS ®RE 7 %
AR 12 REDOEE 13 8.78 13 8.78 E
3 EETHEME DR FETHREME 0 #
Hi 13
BiERE 17
5%k |MRfEFBREDREE 17 11.49
&t 17 F
K
& 16| 34 22.98 #
&
ffEx= 1 #&
1 EEDEHS BERWE 0
6%k |2 FERHEDOBHE 18 12.16
3ERDOBIFICHYT IS =R 0
3R 1
Hi 18
fFEx= 0
B3E 13
1 EETEDBT & 0 12.16 3
2 RROBH 18 K
3 T RDBH =R 1 #&
% |4 EROBHS 17 11.49
5 BEEROBHE EEE 2
6 BFRROBH
7 EERDETE EERE 1
fEE 0
Hi 17
=111 148 100




ERR VS EDORECEOBEH(GMIF4R1BIRAE)

1T IREHA I 3= (2)
=5 g o _E D EX
- %ﬁﬂiiﬁfﬁggiTé + " B 1) 0D ER B
¢ A | ) B4 W | oo | e | s
A#%E 2
HEs i
| 2adons
2 HEE DR .
B 3 mmosmnTOBRS 15 | 4688 |EHETF 4
4 /DT T I —H—DEETFE
P —h— 8
H 15
A#%E 0
| LS EONBX LRBRENEL
I 5HHE DT EE 2
%E%%Ewﬁ%x@ﬁﬁé%%t .
HIEE DR . %
W pumEonmEReyEL 1 | P12 [BEHT 121" &
T 5D EER T DR ’
AL EOMBIIREEZLEL 5F7)—h— 11
$TRREEDYT T T —H— DR
H 17
A#%E 0
| BEOMBRITERERELTS
BB DB HEE 0
z%gw%%?ﬁﬁﬁéﬁgaté
IS DR .
B EronmxsensrEeys| 0 | 00 [FEBT °
FIEDEEHE DR
4 BEOHBY TEBRENELS S 7 —h— 0
ERED 7 ) —H— DTS
H 0
&5t 32 100




ERR VS EDORECEOBEH(GMIF4R1BIRAE)

RELERHAHR
&% g o _E D EX
i %ﬁﬁiﬁffiggité + A B ER P&
¢ (AN | (%) 1% N o] e | s
RE LG 10
1} |REHAOBTE 10 25.64
10
- ] RE LG 19
HUESEDMER IRBELEL
L ey S ) 19 | 4872
19 %
32 82.05 8
BXEREES 0 #
Ik |BIEEREHADOBIS 0 0.00
0
FERELN 3
4R | EEREHHDOBE 3 7.69
3
IRERE L 4 %
58k PEEREHA DB 4 10.26 4 10.26 £
4 E 4
——
ERE 2 E
64k |BIEROBE 2 5.13 2 5.13 #
9 %
|
Ef 1 =
T |BROBE 1 256 1 256 E
1 &
=11 39 100




ERR VS EDORECEOBEH(GMIF4R1BIRAE)

EEBAEE ()
&% g o _E D EX
g %ﬁﬁiiffgggiTé + A B _E D R
¢ (AN | (%) 1% N o] e | s
ERfi 3 £
1} |EEFOBEXIIEROEE 3 27.27 3 21.27 Bifi
5 3 &
. an N EE 1 =
HYSEOMBIIRBRELEL
28k S EEE DB 1 9.1 - 1 9.10 ﬁ
5 1 i
EEm 0
FEER 3
%E%%E%@ﬁxﬁﬁﬁé%%t ]
ERDEF =
s 2 EEEEOBH N I Vs || B
13 ERROBHE : _ o : £
4 BIY—E RV A—R OB By —ERTL IR 0 ®
5 Bl R DTS
Bl & 0
H 3
ERE 1
1 BLEE QMM R HEREBEL BymeAveR 0
TEHIERRDOBE
2 HLUEEDMBR IRBELEL IEEE 0 3
AR |95 —EREA—REDETE 4 36.36 4 36.36 £
3MLUEEOMBITRRELEL Sl E 2 L
?6@%%@%%
4 fr R DTS BE :
H 4
=11 11 100




EMEVREH OB OB ER(ST4F4A1BHRAE)

ERBBEE (2)
&% E )
- %ﬁwii%figgi¢é + MR B b D B e
¢ (A | o) B4 W | 0| o) | e
¥ELT 0
1 |FRBL OB 0 0.00
H 0
¥ELT 0
EEFXELT 2
1 LB EOMB X (HEBRENE fEgmEt 0
2 BIEG [1):7 e
o [ R ETOmE P ‘
W meEET o :
5 BRERIRE R DTS BRI 6T 1
6 BRSO BTS
7 EXIROBIE LRSI 2
ZEHIEm 0
%
F 9 21 70.00 8
%
¥ELT 0
| BEOHBRFERELELTS EEREL 0
ERTOBE )
2 HYBEOMBITERENE ERBET 1
LS BEEEELT OB
LB EONB IRRELE gt 4
4 LS EOMB R TRERE D
3k &?‘éi@?ﬁiﬁio)ﬂﬁﬁg 12 | 4000 |ERERARZEHEM 4
5 ALBEQMNE X TERENE )
& BERERIR A BT DB LB IRILER 0
6 HMLBEDNE R TEBRENE
EF BB RMSTIR R DB P, )
7 HLBEQNE R TERENE
EF BEFIEH DB e e
HEDS 1
5 12
EEFXELT 0
fEgaEt 0
| TESBERLOBE BERAT 0
2 TEAERELT OB
3 TEESEEL OBE BRI FR 6T 1
5 FI 5 BT DB ST 2| 5 1667 | &
6 EERFIHOME RICHTRIZE @
7 HEQBE —_ )
HE 0
5 5
RE 0
| REORE
s |2 BEEORS s | 1000 R °
W AL EEOMER LRBELE 0
EF HREDBIE & 3 .
F 3 4 13.33 £
®
o [BrpEoRmRsERERE: [ | | o [PFE ‘
W4 2 5 E OB : N 1
&5t 30 100




EMEUVHEH EORBECEOBER(TM4F4R1BIRT)

EEBHEERG)
A% E (il & i
e %ﬁ%i¥ﬁﬁfggité + S B | | oD By
REGOM: (AN) (%) B4 (AN) (AN) (%) ER B
HEHEE 1
148 |HEEEEM DB 1 1.23
1
HEHEE 6
1 HLBEEOMBX SEREDEL H&EN 20
TEHHEEEMDBS
2% |2 BEEMDOTE 28 3457 |{R{EER 1
3&@%@@% %
ABf) EE B D5 B E B 1| 69 | 8518 | A
#®
B 28
HEHEE 3
1 BEQOMBXRIIRREVNELTS
HEBEERDBT E LT 33
34 2 HABEOMBRGRBELEL] 49.38
W T B EMDEE '
3HLEEOMEMR IBBRELEL PR 4
T 5RBEER DTS
E 40
FEHEFER 0
i FEFEEE 5
| $Esamon
2 T & &R D&Y s
| B EOR N N ok 0 ®
4 TR RBENDORTS 6 7.41 5
TR EET 1 &
B 6
ZRE 0
1 BREOBH _ S
s |2 T 2RI —DBH 5 618 FoIvATIY °
P EMEEOMERIIRBRENELS : -
¥ LB E DB B R 5
B 5
ES
EEME o] 6 7.41 5
| BEOHNBRFERENELSS \ ®
EHEMMR DB F—IIR—Tr— 0
68k |2 HUSEDMBIIIRHRENEL 1 1.23
TEF—IIR—Tv—DHEH REEME 1
3B HEMEDBE
B 1
&t 81 100




